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-About a method for the number of groups of the gun-
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Summary | Even if it considers the number of the guns to know a gun ,one set of number,I can unite if even if I

consider it to be lack. Therefore there are 16 sets of guns by the calculation and is total
number 500 orders.

_ Because we have used the machine to do English translation , the next does it by our
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u I had a hard fight because I was not able to catch the original’s meaning when I
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finish doing it as hard as possible. We had avery good experience.




